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Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.

For each question, four options are given. One of them is the correct answer.

Make your choice (1, 2, 3 or4). Shade the correct oval (1, 2, 3 or 4) on the

Optical Answer Sheet. (20 marks)

1 Express 37 + 12n — 2n + 7n in the simplest form.

(1) 37+3n 37+12n-2n+7n
(2) 37 +17n =37+10n+7n
(4) 49+56n
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What is the missing number in the box?

@ 1 0 DXH 150

(2) 10 O
(3) 100 s 1 S
(4) 1000 ! ' S nm—
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The ratio of Hassan’s age to Meng Li's age is 3 : 8. What fraction of their total

age is Meng Li's age?
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= o239 (2dp)
(1 027 /D ‘2 Q0 L ( P
(2) 028 !
(3) _0.29 33.
(4) 030 30
=
S50 70-S6=14

There are 70 fruits in a box, 56 are apples and the rest are pears.
What is the ratio of the number of pears to the number of apples?

(2) 1:56
(3) 4:1 2 8
(4) 4:5 ‘ q‘ .
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A box contains 200 blue, red and yellow marbles. There are 65 blue marbles,
45 red marbles and the rest are yellow. What percentage of the total number

of marbles is yolow? _ ~ oo _ £ 4_5-.. qg:’eﬂo\d

b Shyllow = ST wB%
(3) 55%
(4) 90% - 485 %
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- Gayle has p stickers. Zahra has three times as many stickers as Gayle and
Lee Qin has 4 stickers fewer than Gayle. How many stickers do they have

altogether? G e P
(1) Up+d)  Z ~ 2p

(2) (Gp+4)

3) (5p-4 LY = E“u‘
(4) (Tp-4) Sum: P +3P + (P'..q): SP -4
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Which one of the following shapes does not have both of the properties
below?

(a) Diagonally opposite angles are equal.
(b) Angles between parallel lines are equal.

(1) Rhombus Q

(2) Rectangle  Loti
(3)__Trapezium . [\

(4)  Parallelogram
b el
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In the figure, AB, CD and OE are straight lines. Za = £b. Find Za.

(1)  30° 30°-30"+<£a+ Zh & ugo‘-'-.-.-.so'

@ 60" . -
@) 75° 2 (£a) =150
(4) 150° Za = 'S0
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In the figure below, CD, EF and GH are straight lines. EF and GH are parallel
to each other.

Which one of the following statements is true?

(1) <«d=_ce X
2) zsc=24g9
(3) ca=s X
4) <b=ze
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!
11 Findthevalueof 35+ 5 == 3 w¢ &

/3
M - &
4 paa—_
(2 3 q_
@) o
4 2
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12 Mother had § m of ribbon. She used g of it to tie a present. How much ibbon
hedshelet? Mg M Vip Ya gm

A
(1) %m N e
=m N S w——— (| ]
5(:/ zm — | whole.
46 _3/5. - ?:ué" = /3
@ §m
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.13  Mr Tan spent 10% of his money on food and 15% on transport. He then had

$300 left. How much money did he have at first? : . &
(1) $100 JO%, 157 s (100 - 10/ ~152)

W__-/\____—-w-—-—-——-/

™ :22 100 4300

@ 00 Bt fixt, he has 100%= 1SA+aS/
» 300 +100
= 400 .
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14  The figure is formed by an equilateral triangie and 2 semicircles of diameter
6 cm. Find the perimeter of the figure. Leave your answer in terms of &,

ol 43‘ . Qr:dzétm
)1‘)’ ( )cm AL - r=2%em

(2) (6m+18)cm £ O

(3) (9n+6)cm Permﬂer

(4)  (12x +18)cm — =¥ +3r+6
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The figure is a semicircle of diameter 14 cm. What is the area of the figure?

22
Taken=3 = 7] Con -

(1) 22cm? A\"Qﬁ""(fr)

BRO »quftk

— '[i‘l‘2
(2) 44cm? a!
(4 154cm? - HKT 14 cm
=17 e
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Ans: 000
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20 MrWong has a 10-m long string. He cuts the string into shorter lengths

of%meach. Howmanyanhﬂut?gpleceeotmmnhom
o A

|
Vi 2‘« S8 Vi
No P efes = IO—%
o x &
r &
= aXé
s 12
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21 Shade the least number of squares or triangles, such that AB is the line
of symmetry.
A
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22  Figure A is made up of 2 identical quadrants,
Both Figure A and Figure B have the same diameter of 20 cm.

¥

Figure A Figure B

Each statement below is either true, false, or not possibie to tell from the
information given. For each statement, put a tick (v') in the correct

column,
Not
Statement True | False possible
to tell |

Both Figure A and Figure B have the \/ |
same perimeter.

Both Figure A and Figure B have the

same area. \/

Download Chat Online Marketplace (App/playstores) for Past Videos
To join future Free Tution Class, whatsapp to +6597291151
The solution is contributed by Dr Kirel (91123101) - For further enquiries



23  In the figure below, ABCD is a square. Find ZADE.

AARD 18 1Sos = £B=4D
ZA+¢RB+<4D=180°
A0° + 4P +4p =180°

o D & Re™

Z BADE- = |R0"- 45
= 138°

AJ — et
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24 James bought 1 kg of beef. He used 3 kg of it to make some beef
patties. How much beef had he left?

;

2 K
F3 Beef i |

bl 3

&
::q___é_

2 ?
=3

3

3
Ans: ‘é" kg
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25  What fraction of the figure is shaded?
Aréa of rsrtengle 1om 1

= +v¢axd

52 i : 5 om?
- Cmn
:éxl}X!:Qc"} Ans:
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26  There were 50 children at a party. Each child received a packet of
sweets which had a mass of 0,15 kg. What was the total mass of
the sweets that was given out?

Teta) mass = SD xo-IS k'ﬂ

‘.::’7-5|irj

= 75003

Ans: 7500 g
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27 Mr Tan bought 7d pencils. He gave 3 pencils to each of his pupils and
had 2d pencils left. Express the number of pupils Mr Tan had in terms

of d. ¢ 4.
B Y
Tetal penuls grven +o puprls = 7 = 2 =54
No of pupls = %ﬁ‘-

Sd
=

Ans:
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28 In the diagram below, ABE is an equilateral triangle. BC is parallel to
AD and DC is perpendicular to BC. Find £FBC.

- ARBE s egs O A

: ."(ﬂ-:észlésw. B
LCBE=LREB /. | . -
(al? (S') A E D
CFRC + <¢PE= 180"
LF@e + 60 <180

ZFRZ = l?o"“ 60°
=/20°

120 .

Ans:
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29 The figure is made up of 4 identical rectangles. What is the ratio of the
shaded area to the total area of 4 identical rectangles?
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30 The graph below shows the total number of books borrowed from

January to Aptl

A0
2 e

R
§ 750
§ w
s
% E i
5 W
- 14

Jon el Wt Apm
Months

(a) In which month was there a decrease in the number of books
borrowed?

(b) What was the percentage increase in the number of books borrowed
in February compared to January?

Beoke 1n Jzn = '5€
Reoks (n Fab = 300

390-'30
7o Nclease = = © 1007
= 100%
Ans: (a) n“rch feos

) 100 Fs  quiries

Tt




METHODIST GIRLS' SCHOOL (PRIMARY)

Founded in 1887

MID-YEAR EXAMINATION 2019
PRIMARY 6
MATHEMATICS

PAPER 2

Download Chat Online Marketplace (App/playstores) for Past Videos
To join future Free Tution Class, whatsapp to +6597291151
The solution is contributed by Dr Kirel (91123101) - For further enquiries



Questions 1 to 5 carry 2 marks each. Show your working clearly and
write your answers In the spaces provided. For questions which require
units, give your answers in the units stated. (10 marks)

1 Buns were sold at $1.60 each or 2 for $3. What was the greatest
$ number of buns that Siti could buy with $20?
10

£3 ~ 6 (rcmmnd.u' $2)
42 33 937 43 $343 32 .
%I¢I\‘L:P:I%1 %
X sg !’ ' S 4 : _

1_3—

1 for $1.60
2 for$3

No of bune = €xd +

= 173
Ans: 13

Download Chat Online Marketplace (App/playstores) for Past Videos
To join future Free Tution Class, whatsapp to +6597291151
The solution is contributed by Dr Kirel (91123101) - For further enquiries



2

Ben had enaugh maoney to buy either 4 notebooks or 20 exercise books.
He bought 5 exercise books and some note books. How many - -
notebooks did he buy?

| Lo
otehmks 0 1 (00040 exercsSe s
" L’_w n l J}BDBO 27

Q) 00D0O
Ol 004060

;
4 rotbosky &> Lo ex books
2| notebonk & S RX Looks

gen hwjh‘l‘ L -) = 2 note boeks
Ans: 3

Download Chat Online Marketplace (App/playstores) for Past Videos
To join future Free Tution Class, whatsapp to +6597291151
The solution is contributed by Dr Kirel (91123101) - For further enquiries




3 Flndthovaboofﬁ-r% whenn=7.
Give your answer as a mixed number in the simplest form.

Ax A
g+ —g—‘-'- ""i'-"
=6+ 4%

=10%

-
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4 The figure below is a rectangle. The ratio of the area P to the area of
Qis 3:7. What is the ratio of the area of Q to the area of R?

grm. & by yello lind
Meaof €= T+ R
7 =3+

faho (8-
R

Ans: 7"‘+
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5 May bought 160 red and blue buttons. 25% of the buttons bought

were red. May used 75% of the blue buttons for art work.

How many blue buttons did May use?

_3;5"/0 Y4 gotrs
5

£E§9L:r{%§,t"“’ TZS?§M::%§é{&’6“>

=40

:-__{D/é Of blue. buffons

=20

o S A % 120
SR

|00

=;‘7C7

Dow!

The sol

5.

0s
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6 The figure shows a square of side 10 cm, a semicircle and a quadrant
of radius 5 cm. Find the perimeter of the shaded part. Take n = 3.14.

PCl‘lﬂdl( Cirde=dTir =214
W Cemi-Gircle s Kex 157
" quadmni' siwrs 78S

?enmd‘cr‘ S}’)Qdéo‘ _,W‘*'
~ 1O+ 18 7+54 7 84S
=42 - €5 m

Download Chat Online Marketplace (App/playstores) for Past Videos
To join future Free Tution Class, whatsapp to +6597291151
The solution is contributed by Dr Kirel (91123101) - For further enquiries




The grid below shows a straight line, CD. Draw 3 more lines to form a

square CDEF. Label your diagram clearly. [3]
N
B &
r N
=7l
D g
Pad
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Gavin had some chicken pies and vegetable pies in the ratio of 5 : 2.
He sold 18 chicken pies and made 15 more vegetable pies. In the end,
he has equal number of chicken pies and vegetable pies. How many
wgetablesplf;_asdghehavea’tﬂrstzts

"

car+s 2 3 pacis
(ke TveYe ) .,
For ggua| ne -Pu-d cut hiw v P;CS'
" 7 do make, vp v::? B?aﬂr

\F 18 chicken piad n*‘"-‘"d, Jrer, hovete add
\g veq pras plur +he 5" veq pies

= gpq,.f_g -~ 18415 =23

ec = AX| =22
ht -F.rS‘f) 2 parts ve§ p L
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9 Su Mei is k years older than her sister. The sum of their ages is
38 years.

(a) How old is Su Mei now? Express Su Mei's age is terms of k.
(b) If k = 6, how old will Su Mei be in 7 years’ time?

a) SuMe ‘:::u:k:} =38
gistar )

Ahimes 1'*41.::1 = 38+ (K]
(9«0'4053) @ +k
| S‘.Hm-‘ﬁje.f_—_,:m 2=,

b) kzb, Sy Mei sage = 3846222

| ] 384"&
!n 7:,( -hm:, Su "Uf{j?— Ans: (a), o . n
@ 1247 =29 b 2T
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10  The books in a library are packed equally into Box A and Box B.
The ratio of the number of fiction books to the number of non-fiction

books in Box A ls 2 : 1. The ratio of the number of fiction books to the
number of non-fiction books in Box B is 4 : 11. What is the ratio of the
total number of fiction books to the total number of non-fiction books in

thelibrary? R 4 Box 2 l
'p NE « Tl F: NF:Tvh
. 3 Q\ 4-: 1! ! 1S5
o -~ ~ake ¥ Wﬂm”‘
B A+ Bovw 5
F : NF : Tothal
1O+ : S¥1) 1 ITHS
iy = 16 1 30
- s 8 2 I¥

Raho F:=NE 1S 7:5 4,



11 Diana has 1625 mi of orange juice in a jug. She poured the juice into
similar glasses, filling each glass with 250 mt of orange juice.

(a) What was the maximum number of such glasses Diana could fill?

(b) How much of the orange juice was left in the jug?
Give your answer in litres.

& Max 0o glaves & lleJ

) \’\- JF - 'f " ;{"i ' (‘),L'{

-

=
5
o~

bx 25D = 1500 ml
b) Orgﬂe__)uttﬂ l(f’f = 1628~ 1500
“RLrmd N
20125 L
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12  There were 350 goldfish and guppies in a shop. 20% of them were

goldfish. After some goldfish were added, the percentage of goldfish |
increased to 30%. How many goidfish were added?

a0%s @Ok gvppies
vddad 30 || 350-30= 2O
+
21 %0 280 2
Wl F07e

2% of 350= 22 x 2P
= X 35
- O
Goo of 25D = 350- 70 =280 /
‘l44€r‘(hkﬁ?j WKN!.:PL*FSH,
gotal'F\‘sh > 30% J
3U~PPIU - -«J’Oyo = 280
(% = L3&
30

3olda°\ sh>30% = ZOXZ i 120

Do goldﬂﬁ o, addad = 120 - 30 =50 es) for Past Videos
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13 In May, Mr Ahmad saved 3 of his salary and used 3 of his monthly

salary to buy a mobile phone. mm%dmmmwn
and the rest of the $1750 was spent on food,

(a) What fraction of his monthly salary in May was spent on food?

(b) What Mr Ahmad's monthly salary in
'/;' Ve ¢ 75 —_—

a) | Savings [phane|transp [ferd $17240 |
74

Gl

ﬁarwader='-§‘-é=%§"é-§-=
Fosd = %4’ emainder
‘%*%3 -
b) ﬁ)oJ IS % o= $
3.'; 47 = $250

-
.

_S’a‘ag . 1“ - Jax 4150

2 36000

tores) for Past Videos
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14  The figures below are formed using similar matchsticks and dots.

Figure 1 Figure 2.

(a) Complete the following table.

Figure Number | Number of dots | Number of matchsticks
1< 4: 2(1) + 1

2 3 +2 10 z 2+ A(3

3 6 3+2 18 = 2(2)+ 3($)
4 (i _‘_Qﬁm ) ._;_2_8___(1]
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The solu

15 In the diagram below, EDBIsquheandABhpenldch
ZABD = 42" and BD = CD. ':‘" .69

F i\

1

| LABD = ZBPC
| =i’
'(alé- 4:)
E
C) ABCD 18 sl A
(a) Find £DCB,
et ZDciR =/ZDBcC

£ DCB+ ¢PBC +LBDL= 180"

ZDCR42pca 4 427 = n?o
ZDCB = | SO~ 42

/EAR = [0 ~ 48
e ]3]

Ans: (a) -_éz:_.

® _ 12X

or Past Videos
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16 Msyhas%amsﬂdwmasSandymd%ummysﬁckenaChdy.

Cindy has 15 more stickers than Sandy.

(a) What fraction of Cindy’s stickers is Sandy's stickers?
{b) How many stickers do the 3 girls have altogether?

a) Mor SM\ Clﬂ"
R M
274 S-2l0

&% 7 -
C,M_lj hag 3pards mom +han 5““5

- SPQI“"S e IS
| part =5

Sady has Ao Shekes as Gndy
b) Tetfal = 4471410 = 2 t)qf’ts

= XS
- 10Os
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17
4 * ABC Bubble Tea k
$4.50 per cup
For every 5 cups of bubble tea purchased,
K a 20% discount will be given to the 5 cup. )

Each cup of bubble tea cost $4.50 before discount.

(a) How much did Mrs Yeo pay for 5 cups of bubble tea?
(b) Mrs Yeo pald $151.20 for some cups of bubble tea.
How many cups of bubble tea did she buy?

5 eup cost 20 x 3450 - $362

ScUrs oost (4x 3u-50)+ 3360
- €21-60

L) 15‘1 .10

7 (QQ{SO_F SCOP) |
~ #rs Yeo Ldﬁk‘l 7XE =350*f‘5
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